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02/05/14 nxraigrt56652_35.ppp_defaut+3d−15_2−stp

1

Following steps removed:

56662.20486 : Step 1 104500 ns

2

56669.52778 : Step 2 −104500 ns
512 s: Mdev= 0.12448E−11 Tdev= 368 ps
1025 s: Mdev= 0.69451E−12 Tdev= 411 ps
2050 s: Mdev= 0.45198E−12 Tdev= 535 ps
4099 s: Mdev= 0.31367E−12 Tdev= 742 ps
8198 s: Mdev= 0.23735E−12 Tdev= 1124 ps
16397 s: Mdev= 0.15210E−12 Tdev= 1440 ps
32794 s: Mdev= 0.99636E−13 Tdev= 1886 ps
65588 s: Mdev= 0.68281E−13 Tdev= 2586 ps
131176 s: Mdev= 0.49524E−13 Tdev= 3751 ps
262351 s: Mdev= 0.36022E−13 Tdev= 5456 ps
524702 s: Mdev= 0.29304E−13 Tdev= 8877 ps
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